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A
[ LTRY

% i B - IRk B B i & & i
EEMNEE 2,953, 741
HRE 1,803,841 x 79.5% — 7,794 1,426, 259
REEEER 2,953,741 + 1,426,259 4,380, 000
EERE 129,440 + 1,294 130, 734
EEAGE 129, 440
EEZE 1,294
Z DR 129,440 x 53.85% ( 35% + (1 — 35%) ) 69, 703
KR 130, 734 + 69, 703 200, 437
—REEERE 200,437 x 53.85% (35% + (1 — 35%) ) — 8,372 99, 563
AEREE 200, 437 + 99,563 300, 000
A B EHMmE 4,380,000 + 300, 000 4,680, 000
HBGEELE 4,680,000 x 10.00% 468,000
AEEHRE 4,680,000 + 468,000 5,148,000




BEMNRE

% # A& - AR i % 8 H i & #
ERAER 3,084,475
KEEHAE £ 3,084,475
KEERE 3,084,475
KEREE 2,480, 615
AEER 232, 603
1 BEER 1.00 232, 603 232, 603
%
KERE 1,380,978
2 kD (—REEOH) 32.00 15,823 506, 336
el
3 FkQ (—MEE+EERBEE) 12.00 34,169 410,028
R
4 FkQ® (—REB +EEREER) 4.00 51, 253 205,012
R
5 ELEHENR 1.00 259, 602 259, 602
£y
B 736, 300
6 HHEER 1.00 736, 300 736,300
E=
R 130, 734
T REERER 1.00 130, 734 130, 734
Y
BEWE 540, 860
BEHE 413, 600
8 BEWE 11.00 37,600 413, 600
Hhm




BERREK

% R Bk - BRI B 2 fif ® % 1

BEREHBREVFLD 127, 260
9 BERERBREVELD 1.00 127, 260 127, 260

=
E#ERE 63, 000
R 21,000
10 £BHE A 1.00 21,000 21,000

=
BIREE 42,000
11 fETRERE 1.00 42,000 42, 000




Kffi&- I/ \v7r—>

&5 1
A RAEERE 1X5Y
% b R - K& By £ B O{f £ W E w =
A= FEHE
A 1.50 54, 600. 00 81,900
HBIE A
A 2.00 47,100. 00 94, 200
B = FAnE
A 1.00 36, 900. 00 36, 900
REBF
A 0.50 34, 600. 00 17,300
MM 2 nY%
% 1.00 230, 300. 00 2,303
& B 1EZ£BEA - 1. 00K 232, 603. 00 232, 603
55 :2
2 KD (—RRIBEDH) 1BEY (14.9ths)
% L R - KT By £ B f £ wm E w =
REE Sq4 kY 2
=] 1.00 3,270.00 3,270/2.00H / 8H
SREM FRP D 70PS%! 3.0t
=] 1.00 76, 964. 00 76, 964 |8H
Bl HAm
A 1.00 47,100.00 47,100
Bl E AN
A 1.00 36, 900. 00 36, 900
REBF
A 2.00 34, 600. 00 69, 200
MM H 2{KnY%
% 1.00 233, 434.00 2,334
& E YEXEES - 14. 904 1 15, 823. 00 235, 768




Kffi&- I/ \v7r—>

&5 :3
25 HKQ (—RRIBE +4£FRIEER) 1B3HY (6.94h:R)
% b R - K& By £ B O{f £ W E w =
ZEE 54 FRY 2L
H 1.00 3,270.00 3,270({2.00H / 8H
FEM FRP D 70PSZ%! 3.0t
H 1.00 76, 964. 00 76, 964 |8H
= F
A 1.00 47,100.00 47,100
B FEnE
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
MM 2 nY%
% 1.00 233, 434.00 2,334
& B 1EZEBES - 6. 90t = 34, 169. 00 235,768
H5 4
B FBKQ (—MRIER +4FIREEH) 1B3HY (4.64hm)
% b R - AT By = B O(f % Hm E B %
REE S4 kY 2L
=] 1.00 3,270.00 3,270/2.00H / 8H
SREM FRP D 70PS%! 3.0t
=] 1.00 76, 964. 00 76, 964 |8H
Bl HAm
A 1.00 47,100.00 47,100
Bl E AN
A 1.00 36, 900. 00 36, 900
REBMF
A 2.00 34, 600. 00 69, 200
MM H 2{KnY%
% 1.00 233, 434.00 2,334
& E 1EZEBES - 4.60th = 51, 253.00 235, 768




Kffi&- I/ \v7r—>

E#5:5
A ERLER 1Ly
% b R - K& BAGT = B f £ Hm E w =
B FEnE
A 6.00 36, 900. 00 221, 400
REHE S4 rNY 2L
H 6.00 6,367.00 38,202|6.00H / 8H
=1 5 YEZHERN 1,00 259, 602. 00 259, 602
ES:6
B DATEER 1KLY
% L R - KT BARL = B f £ wm E w =
TR
1.00 736, 300. 00 736, 300
& B {YE%8ERH : 1.00=X 736, 300. 00 736, 300
&1
A MEEERK 1KLY
% L R - BAKTiE BARL = B O(f % Hm E B &
EXEETTIEH))
A 0.60 64, 800. 00 38, 880
HEm (B)
A 0.80 47, 200.00 317,760
HEm (C)
A 0.50 38, 400. 00 19, 200
Hitt g
A 1.00 33, 600. 00 33, 600
EHERARE FIEEDY
% 1.00 129, 440. 00 1,294
& E 1EZEEA - 1.00K 130, 734.00 130, 734




Kffi&- I/ \v7r—>

&5 :8
a4 BRERE 1HhmLY
% b R - K& B = fii ] i 5 &
BERE RIEEE
= 1.00 37, 600. 00 37, 600
& E 1EZEBES - 1. 00t = 37, 600. 00 37, 600
H#5:9
a4 BERBEHREVELD 1KLY
% L R - K& BfT = i £ i B &
Bl HEm
A 1.50 47,100.00 70, 650
B FAh
A 1.50 36, 900. 00 55, 350
MM 2 nY%
% 1.00 126, 000. 00 1, 260
& B 1EZ£BEA - 1. 00K 127, 260. 00 121, 260
E#E 10
2% XBHRA 1X4Y
% L R - BAKTiE By = il % # B &
EBHRME
= 1.00 21, 000. 00 21,000
& Hi 1E%8EH - 1.00K 21, 000. 00 21,000
BES 11
2% ETEREHRE 1X4Y
% b R - KT By = i i # B %
EIERRE
= 1.00 42,000. 00 42,000
= it 1EZEEH - 1.00K 42,000. 00 42,000




No.

B& - AR

BifL

it

B (H)

K {fiNo.

BT

AT R IR - BAR Tk

4 N2

3,270

2.00H / 8H

2

BAKO (—

RRIEE D H)

3

HKkQ (—MRIER +AFERREA
)

1

B
Bk (—

fRIEE +4AFRRE

HEM

FRP D 70PSE! 3.0t

16, 964

8H

N

BH)
HKO (—REBEDH)

w

Bk (—

fRIEE +4AFRRE

BH)
BKk® (—RIER+4£FERREE
B)

4 N2

6, 367

6.00H / 8H

[$2]

FELER




B &

BilRES 1
HlRAM : ZBE S4 b/SY 2L 2.00H / 8H
£ b g - BT Bifig £ B i " =
IV DP
L 6. 00 149. 00 894
BE (T4 bV [ZERERE]) REFTE HR=E2.0L
iCi] 2.00 290. 00 580 B AER
BE (54 b [ZERERE]) REFTE HR=E2.0L
H 1.19 1,510. 00 1,796 #AR
& it 3,270
BfxRES : 2
BifizxA% : &M FRP D 70PSE 3.0t 8H
£ L B - KT B = B i il i &
A
L 44.00 103. 00 4,532
=ik B
A 1.20 29, 800. 00 35,760/ B=1.20
B (@M [FRPE]) D 70PSE 3.0GT
H 1.00 3, 200. 00 3,200 e Iy =|
B (@M [FRPE]) D 70PSE 3.0GT
H 1.65 3, 350.00 5,527 a=1.65 #HAA
HiEEHE
% 25. 86 49, 019.00 12,676
—REEE
% 24.75 61, 695. 00 15, 269
= it 16, 964
Hifi&REFS : 3
BlzRAM : 3S@BE 4 bV 2L 6.00H / 8H
£ b I - KT By = B {f i B %
vy
L 19. 00 149. 00 2,831
B (54 bV [ZERERS]) FHEEBIE HS=2.0L
iG] 6.00 290. 00 1,740 eI
B (54 bV [ZERERS]) FHEEBIE HS=2.0L
H 1.19 1,510.00 1,796 #AA
= Hi 6, 367




